20130 0
000000000004 oooooon)d
oo
Juogdootdboogdo

oo o
oot dboboboooooobogada
oooobbuooooobbooad

e-mail: igarashi@kuis.kyoto-u.ac.jp



1 Oo0dnd

1.1 ODOoogooon

0000000000000 000O0000 MLOODODOOOODOODO (oODOOOO
00000d00)0Do0o0000ooooooo00U0oooDoooOoOooooDooOoDO
000000000000 oodoooooooooDooDoooooDoooooon
000000000000 0000O0bO00O0O00Ooogn

0000000000 (25000) 0000000000 0OODOOOOOOOMLODOOO
00 Objective Caml DO OO OOO0OO0DOODODOODOOODOObjective Caml OO OO OO
00000000 Objective CamlOD OO0 O00O0OMLOOOOOODOODODOOOOOOOO
000000000000 000DbO0bO00DO0oDO0bOOooOoOooOoOoMLOODOODOOO
O000000000000000000000(SchemeOO00OO0)0O0O0O0OO0DO0O0OO0O0OO
000000000000 00O00O0DO0bOoooooog

O0oodooooooooooooood

10/030 10/11 | O Objective CamlO 0 00 2070000
10/17010/25 |00 0O0O0OOOO
10/31011/28 |0D0OCO0OOOOO

1.2 0000

000 Objective Caml 00 (400 00)0 00000000000 0OOODOOODOOOO
0000000000000000000 (030000)0OoooooooooooooQd
ggooobod

00000000 (000000000 0O0OO0)000DO000O0DO0ODODO0OOOO0O
gobodbboogdbbobobboobobobooboboobbuooobbuoooboon
ggbbbuoobobbooodobbboooobbodao

gobogdooobobooobbuoobuooobboobbooobooobboon
0o0oooopooo0o0ooooo0oUoopDooO0UoooooOoUoooDo((@Cooooooo
O0000000000o0o00oooooO0o0o0ooooooooooD)oooooooO0Q
gbobobooobobooboobobonoboobobobooooobooooon
goboggbbubbooobbogobbuoobobboobboobbooboboboon
ggbbbuooobobboooobbboood

1.3 DO0000O0oboooo

00 webOODODO URLO http://www.fos.kuis.kyoto-u.ac.jp/~t-sekiym/classes/
isled/ 0000000000 ODODO [6)00Objective Caml OO0 000000000000
000000 Objective Caml DOO0O0O0O [2] (OD0)0O http://wuw.fos.kuis.kyoto-u.
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ac.jp/~t-sekiym/classes/isled4/ocamlman/ D OO0 O O0O0OOOOOOOOODODOOO
O00D0COnttp://caml.inria.fr/ OO OFAQ OO D0 O O OObjective Caml 00000
O000000DbO0D0OD0O0o0O0o0O0o0obOobOobDOnmObjective CamlODOOO0OO0O
0000000000000 00000O0000O0O ([foolpp, 4oood

O00000000000000000[,030)]000000000((CODO0O0 Scheme
000 Scheme D00O0O0O0OO0OODOOOOODO)

2 Objective Caml [ [J

0000000000000 0000000D00D00D0ODO Objective Caml 0D OO0
gogboboboggbboboo

2.1 Objective Caml 000

000000000 MLOOODODOODODOOOO0OODODO0O0O00O0OD0000O000000O0
gobooboobooobooboboooboobobooobooboboooboMLODOOoO
gboboggbbuodobbooobbobboobbooobbuoobbooobboob
0000000000000 00O0O00000000o0oooO (bobooooooOoOO
0000)00000000MLOOOOO0O00 ANOOOOOOOOOOODOOooood
00000000000 00000O0O000000 (DOoOD0Dooooooooo)oooo
gboobOobooboooooooboobuobobooobOobOoDnStandard MLODOODOOO
0@B000000@00o0ooooo0)0oooooo0O0o0oo0ooooOooOo0Og
ggbbobuoooobboooooboo

O000oooobopboooOo MLOOOOOO Objective Caml OO OO OO OO OObjective
Caml 0 INRIAODOOODOODOODOODOODOODOODOODOODOODO
O0Standard ML OO ODOODOODOODOODODOODOOOOOOOOODOODOODbjective
Caml 00O Standard ML OO O0OO0OO0OOO0OOO0OO0OOOODODOOODOODODOO
gobbogbobobuogobuoogbbuooobbooobbuooobboobbooon
ggbbbuoooobbbuoooobbbooogbon

2.2 Objective Caml 000000

Objective Caml D 0000000000000 OODOOOOOODOO Objective Caml O
gogbbbuoooobbbooooooobbbuoooobbbuoodgbboboooon

Objective CamlJ 000 O0OO0O0OUODOOOO ODOOODOODO Scheme OODOOOOO
O00000DO00O0000bO0DO0bUobOoOobOOnScheme OO0

'00000000000000000000 (object language) 000000000000 O0OO0000O
00000 (Meta Language) 000000000




(define (fact n)
(if =n0) 1 (*xn (fact (- n 1)))))
(fact 5)

gboooboboobod factJgboogoobOo0oboobbOo0 120000000
00 Objective Caml OO OO0 00000 0ODOODOOO

let rec fact n =
if n = 0 then 1 else n * fact (n-1);;
fact 5;;

gboobooboobooboon

0000000 DOO00D0Scheme 0OOOOO0OOOOODODOOODOOOOODODOOOO
O0o0000000000000o0000ooooo fO00 00 Y ,fG OO0
gboogogoo

let rec sum (f, n) =
if n = 0 then f(n) else f(n) + sum (f, n-1);;
sum (fact, 5);;

gooooo+114+21431+4145 000000014 0000000

Objective CamlO D OO0 ODOOOOOODOOOOOO Objective CamlOOOOODOOO
gobbooooooodgbooboobbooobbooobbuooobbooobboon
O000000000ooooooOo0oO00o0OU0U0UU0 (DoboD)obooooogoo
gobobooood

let hoge x = x + 1 + "hoge";;
gobboboooobbbddUhege UODOOOOODODOOO

This expression has type string but is here used with type int

O00O0"moge" OO0DOO0OD0OODO+0000000D000O0ODOOODODOOODOO
0000000000000 00O000O0 (D00 ODO00DO0ODOO0D0oOODOO0OO0OO
O00000000)000000000000000000 (000 "hoge"OODODOO
000000 This expression 0000000000000 D0)000000O0O hoge
obooboobooboooobooboboobOooboobDoobDbooobOoDOon
Objective Caml 0 00000000 O0ODOODO0ODOOODOODOODODOOODOODOD
0000000000000 00O0(0000)000000O0O0O00O0O00 Objective
Caml DODD0OODOOOO (strongly typed) 0000000000



Objective CamlO 000000000 COOOODOODOODODODOOOOODOODOO
O0000o0oobOooboobooooobDon Objective CamlODOOOOOOOOO
gogobbobbuooouobbobboooooobobbbuooooobobobogo
gogbooboogogn

let rec fact n =
if n = 0 then 1 else n * fact (n-1);;

gobbobooogobood

val fact : int -> int = <fun>

O000000000000000 fact OODO (int)D000OD0ODOOOODODOOO
(->0D0C0o0o0oooooooo

Objective Caml 000000000 O0OODOO Objective Caml DD O0OOODOOOOO
ggobobbooobuobbbtbooooobbobodooooooobbobboooogo
000000000000 0OObjective Caml OO0 O0OO0O0O [1(0DO00OO)O:: (cons)
o000 1::2::3:: J000000000%00000000020000
goooobbil sum_of_first_two UL UOOOOOOOOON

let sum_of_first_two 1 =
match 1 with

(1 >0
' x :: [0 > x
| x 1ty :: rest > x +y;;

val sum_of_first_two : int list -> int = <fun>

O0000match 000000 1000000 (0O00000DODO)0x::00 (100
O000)0 x::y::rest 200000000)0000000 ODDODDOODOOOOO
0x(0yyOOOOODOOODOODOOOOODODOOOODODODOOOOODOOO0Ooooo
ggobbbbbuodoooooooobbbbbbouooooobbobbobogo
goobbobbood ->0000 int list0000000000 OD0OODOO4dod
goboobooogn

Objective Caml D0 0000 ODOOOOOOOOOODOODOOODOODOOODOOOOO
gobbodgobobdogoboooboooboobobboobobobooobboon

let rec length list =
match list with
0->0
| x::rest -> 1 + length rest;;

2[1; 2; 3J]oooUooOooO



gogbbbuoggobboooooobuogoobobboooobbbuooobooon

length (2::3::4::[1);;

- : int = 3
length ("hoge"::"foo"::"bar"::"baz"::[]);;
- : int = 4

Ubobbbodbd lengthODOO0ODOOOOODOOOODDOOOOOOOODOOO
gbogbbobooboobuoobbuooboobuoobuooboobooobobo
gbboobobougboobouobbbbboobuobdoboobboobudgboo
gogobbobbooooobobobbbodoooooobobbbooooonoboboboboogo
0000000000000 CO0000 (D0000oooooo)Dooooooo

000000 Scheme OOO0OO0OOOO (garbage collection) 000000000000 OO
00000000000 COO0 malloc/free 00000000 DODOOOOODOO
ooooooooooooboboboobobooooooobooboooooobobobbOoo
oobooooboobooooobooooboobooooooOobOOoobooboOoOooOoOoOoobooo
oooo

3 MLOOOOOOOOO

3.1 UOO0Oouoogd

000000 (interpreter) 00 0000000000000 O00OOOOOOOOOOOO
goooooonooooonooooooooooonoooogonooooot
0000000000000 00oooooooon (syntex)D0000000OCOOOO
O00000000000000D000000 (semanties)D0000000O0O0OO0OOOOO
0oodoooooooooooooooooooooooooooooooooon
oo ooooooood
00000000 (000000000000 00000000) 00000000000
oo ooooooood
godoobooooooooooooood

oo ouooobuoooouoooon
O0o0ooooooooooooooooooobooooooooooooooooon
O (defining language) 000 0000000000000 0ODOOO0OOOOOOOOOOO
0000000 (defined language) D000 OODODOO0O

OO0O0O000 = Objective Caml
0000000 = ML(Objective CamlOOOODOO)

oooobooobooobobobobobboboooooooUUooooooooooooo
O000000000000000000000000000000O (meta circular interpreter)
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0000000000000 000000000000000000000 (abede) 00O
O000000000000000000000 (abede)D0O0O0OOODOOOOOO
gobbuogobbuoodgbbdooboobobobbuooobbooobbuooooon
gboboodgbbuooobbobbuoobobooobbooobboobboooboob
gobbogbobuogobobooobobooobbuooobuooobooobbuoooobooan
ggbbobuggobbboooobobbbooobbboooobbbuoooobbobao

3.2 UUbonooooobobbuoooooon

gboobgoobobobooboobuoobooboo Tobbobooboobooon

syntax.ml 0000000000000 00000000000000000000000
00000000000000000000000000000000000000
(00,/0000)00000

parser.mly COO0O yaccd bison 00000000000 OODOODOODODOODOODOOO
Objective Caml O O ocamlyacc 0D O00OO0D0O0OODO .mlyOOOODODOODOOO
000000000 DO0D00O0DO0D0000O00DbO0OD0o0bO0ODO0DOO000 yacc
oo0oood

lexer.mll COODO lex, lex OO0 ODOO0OO0O0O0ODOODOOOOOOODOOOONOODb-
jective Caml OO ocamllex OO0 D000 0O0O0O0O .ml1 OODOODOODOODODODO
gbboodgbboodgbbuooobbooobobobbooobbooobboon
gooobouoobooD lexdboonogd

environment.mli, environment.ml OO0 000000000 O0OO0OOOOOOOO0N
goobooboooon

eval.ml D O0O0O0O0OO0D0OO0O0O0O0OOOOO0O0OOLOODOOO0O0OOLOOOOOnO

main.ml JOO0O0O00D0O0O0O0OO0O0O00OO0O00O0O00O0O00OOO0O0ObOO0n0oO0gn
gogbboboooobbbooogb

00000 MUlOODOODO0O0OODOOOD7000000000000000000000O
000000 Makefile [0 http://www.fos.kuis.kyoto-u.ac.jp/~t-sekiym/classes/
isle4/src/ 0000000000 70000D000O0OO0O0DO0ODOOODOODOODOOO
O00 mlO0O0OOD0 EmacsO00000 OOOOOODOC-cC-cOOOODDODOODOO
0000000000000 make depend 0000000000000 (ODOOODODOOO
O00000000 make clean 0O 0000)000000 OOOC-¢c C-cmake -k 00
00 o00o0bbooooobooobooobobD miniml 00000000000 0O00OO0
O000M-x shellOODODODODODODO O0D0)miniml 000000 #000000000
gooooo MLOOOOODOOOoOooOooOooDoooo



> miniml

# X;;

val - = 10
# x4+ 3;;
val - = 13

(00000000 xOOD 100000000)00000000000OC-¢cC-cmake -k
0000000000000 0000000000000000000 M-x next-error [
00o0doooDdoooooooooooooooooan

000000000000 Objective Caml OODOOOOO0DOOOOONOO ocamldebug O
000000 (Objective CamlO0O 000 16000)000000000000O00O0O ocaml
00000000000 00000000000D0000D00D0000000ocaml OO0
oood

ocaml ~-I{0 00000000000 OOOOO ) foo.cmo bar.cmo ...

gbbugbobuobbudbudbbudiblFeo,Bar DO UUODOOODDOOODODOOODO
gogbbobugoobboooobbobooogbobooo

3.3 ML'OO0OO0OOO0 — 0000000000000 O0O0O0O0OO0OO0
oo
O000000000000000000000000000000000000000 (O

0000000000000 ooooo MUlooOoooo
oooOMU' OOOO0OO0OOO0O0OO0OOoO0OooOO0

(00000 ) == (0);;
(0) == (000)
| (Dooooo)
| (DoOooooo)
| (0 (00000) (0,
| if (O 1) then (O o) else (O 3)
(o))
(00000 ) == +|x|<

gogbboddg;gubobbuogoobobuooobboooobbboooobbuoodon
000000000 (true0 false) D000 00O00D0O0OO0DO0O0O0OO0OOOO0OOOOO
0000000000000 0000oo0o0o0oooo0oOo0oOOooom(cooO0O
00) 0000000000000 0000000000000000A0 if, then, else, true,
fase0 5000000000000 O0O0O0OOOOOMLIO0OO0O0O0OO0



(* ML interpreter / type reconstruction *)
type id = string

type binOp = Plus | Mult | Lt

type exp =
Var of id
| ILit of int
| BLit of bool
| BinOp of binOp * exp * exp
| IfExp of exp * exp * exp

type program =
Exp of exp

01 ML'OODOOO: syntax.ml

3;;
true;;
X5,
3+ x';;
(3 + x1) * false;;
D00+ *000000000000000000* +,<,if0 0000
goooogooooobooogootdedboooboooonog

3.3.1 syntax.ml: DO UOO0O0OO00OOOO0O0

gogoobbbbbotbodooooooobobbbbbl1obbbbbbbbtbiadon
0000000000 000o0o0o000Doo0U0o0ooDoooooDoooo@MoooO
00000000000000000000000000000000000) bin0pd expl
program 0000000000000 (DO000O0ODOO)ODODDODOODODODOOODODOOOO
gobboboooobbob

3.3.2 parser.mly, lexer.mll: U UOOOOOOO

ocamlyacc 0 Oyacc OO OUOOLALR(1) OO OO0O0ODO0OO0OO0OOOODOOOOOOOOO
0000000000000 0C000O00LALR(l) DDOO0O00O0ODOOOOOOOOO
00000000000 (o000 00ODO0O00Do0OOO0OO0)DoODOOooDUooOOooOO
U parser.mly HOUOUOOOOOOO

gbooboobobboboobuoob40b000b000DbO0DO



hi
(ooo)
h}
(on)
oo
(0ooo)
oo
(0ooo)
(000), (0000 )0 Objective Caml 00D D0O0O0DOODODOOocamlyacc 000
0 parser.ml 00000000 0O0OOOOOOODOODODOODOO(OO)DODODODO (OO
00)0000000000000000D0O0Oparser.mly 000000 OCO0OODOOO
O000000O0o0oooooooOo(oooo)yoooooooooOooooOoooooo
000000000 00b0O0O0oboOonog Objective Caml OO0 (x ... ) DO0OOOOO
O0o0oooobcCcobopooooo /+« ... x/ 000000
0000 parser.mly 000000 (0 2)000000000000000O0OOOOOOO
oooooobo % 00oooooon

e NUUUDOD open UDUULDDUOUODLDDD syntax.ml DO UOUOODOOOODODO
00000O0000OD0DOOD0ODODO0O0O00O0O0000000D00(@UoooOoooo
000 Syntex.Var OO 00000000000 0ODOOOOOO)

e Jtoken (J0UIOUDO) ...0 00000000000 OOOOOODOOUOOOOOO
“PO«yODODOO0D0OO0OOO0OD0OO 4y 000000000 LPAREN, RPAREND] SEMISEMI
00000000 (+,* <)000000000 PLUS, MULT, LT, O OO if, then, else,
true, false 0000000000 0OOOOOOODO(D 10DO0DODOODOOOODODOOO
00Plus000000000O0O0O0ODOODOOOOOOOOODOOODODOOOO)O
UO00b00oboo0oboobOobdn ocamlyacc OO OO parser.ml OO Otoken U0
(0ooO0)oOopDOooOUOUUOODOCOOO0UO0DODOOOOUOODODODOOOOO
000 (0O0)ooooooooooo

e Jtoken <(0O )> (0O0OODO) ...000000000O0O0DOODOOOOOODOOCOO
0000 INTV(OOOO0O0O0000000 int0)0000000 ID(D0O0O000OO
00 Syntax.id 03)0000000000000000O0O0O0OOOOO parser.ml
O000(0)YY0OOOOODO teken DO OO0O0O0OOOOOOOO

e Ystart (0O0ODOO) ... 0 (00000) 000000000000 Oocamlyace
OD0000Oparser.nl 00000000000000000000000000O
000000 toplevel 0000000000000 00000 main.ml OO
Parser.toplevel 0000000000000 000000O0OOOOOO0O0
0 %ype 000000000000000000O0

300000 open 0000000000 DDDO0O0OOOOOOOSyntax. 000000000DO0DODODO
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i

open Syntax

T

Jhtoken LPAREN RPAREN SEMISEMI
Jtoken PLUS MULT LT

Jtoken IF THEN ELSE TRUE FALSE

%token <int> INTV
Jitoken <Syntax.id> ID

hstart toplevel
htype <Syntax.program> toplevel
Tolh

toplevel :
Expr SEMISEMI { Exp $1 }

Expr :
IfExpr { $1 %
| LTExpr { $1 }

LTExpr :
PExpr LT PExpr { BinOp (Lt, $1, $3) }
| PExpr { $1 }

PExpr :
PExpr PLUS MExpr { BinOp (Plus, $1, $3) }
| MExpr { $1 }

MExpr :
MExpr MULT AExpr { BinOp (Mult, $1, $3) }
| AExpr { $1 }

AExpr :
INTV { ILit $1 }
| TRUE { BLit true }
| FALSE { BLit false }
| ID { Var $1 }
| LPAREN Expr RPAREN { $2 }

IfExpr :
IF Expr THEN Expr ELSE Expr { IfExp ($2, $4, $6)

02 ML!OOOOOO: parser.mly
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e Jtype <(O)> (00O ) ...000000000000O00OOOtoplevel JOODOO
gobbbuoooobbbduodobibl Syntax.program U U U U OOOO

e 00ODOOO
(00oooo)

(000 1) (000 4,,) { (00000000 ,) 3

000 o) (000 4,) { (00000000, }

O000000000(0D0D000000 )00 Objective Caml D0O0O000000% 00O
Oogobogoboobboobobuoobobboobboobbooboboon
gbobbuoogbooobbbuooobbuodbbudbl Exp U Syntax.exp U
00 (@oOOoML!OO0O00000)000000000000000O000O00O0O0
gobbbuooobbbuoooobobuooobobboooon

g20000gbboobbogoboboobboobobbooobbooobbobooon
goooo

gbogbobbodboobobodbuoboboobuooboboobubbUocam-
llexO lexOOOOODOOOOOODOOOOODOOOODOODOODOODOOOODOD
gogbbbuoodb.m1 000000

{(0D0o) %

let (00 =(0000)

rule (000000000) =
parse (00O0) {(00O0O0O) ¥
| (0000 ){(00000) }
I
and (000000000O) =
parse ...

and ...
{(0000) 3}

0000000000 0obDO0ODbObODbOoO0DoOO0nOObjective CamlODOOOOOOODOO
OU000Uocamllex DO OO0 lexer.m1 DOO0ODOOOOODOOODO ODDOOODOODO 1let
gboogbbodgbobbuogbbuobbuoobbuoobbiddilexer.mll JOOOO
gobbuoobuoodgbbboodobbbooobboobobbuooobbuooobooob
U0 ccamllex OO OO0O0OO0OODOOO0ODOODOODOODOODOODOOOOOOOOOOOOO
00 (Objective Caml 00 )00 00000000000000O0O (parser.mly 00000
0)0000 (Parser.token 0 ) 000000000000 ODOOOOOOODODOODOO
gobbbuld lexbuf UOOODOODOOO0ODOOOOO0OODOOOOOOOODOOOO
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e Lexing.lexeme lexbuf UL UODOOOUOOO0OODODOOOOODODOO
e Lexing.lexeme_char lexbuf n U OO UUOOOOO nOO0OOOOOOOOO

e Lexing.lexeme_start lexbuf UL DO UUOOOOOO0OODOOO0OOOOOOOODO
UdbbbogdbdddbioUd Lexing.lexeme_end lexbuf DU UOOOOOOOMN

e (00000000 lexbuf 00(00000000)00000000

0000000 lexer.mll ODOOOODOODOOO0ODODOOOO0ODOOOOOOODOOO
gbobobobobobobobObOdbDreservedWords HUODOOOO0OO0OOOOODO
O0List.assocU 00000000 O0ODOOODOODODOODOOODOODOO

0000000000000 00main 000 (0DO00)000000OO0ODOOOODOOOO
goboooooboogobooooboooooogoobooobobooooooD MLODOODODO
gbogboobobobobooboboobooboboobobobooboboon
main lexbuf U O OO OO0OUOUOOOOOOO0O00OOO0OOint of_string O OO
000000000 int 0000000000 INTV (OO int0)0000000OO0OO
googooboobbuoobbooboooboobbuoobbooboooboobobog
gbobooboobboobbobbooboobboobboobboobboobobo
O00000000000000000 (DO Noet_found OODODODOOODO)IDOOOOOO
Uobobd et ddboobboobooobboobboobbooboboobboon
U00O0exitUO0OOO0D0OOO0DOO

gboboboboobobooobobooob0obooboooobOobobDoobobnon
O00obO0bO0bOooooOoboooobobooboOoD lexdbOooOdoOO Objective Caml O
gooobooobooonog

3.3.3 environment.ml, eval.ml: 00 0OO0O0OO0OON

00000 DOO00OD0O0O00ODO0bOO00OO0O0DOO0bObO0OO0ODOObO0ObDObOOODOO
0000000000000 00oo0oDOO0oDOooOooooo0ooOobOoboOooDoOoogoodg
00000000 (DO00000O0)000000000O0000O0D0D0oOO0o0oo0OOd
000000 (expressed value) 000000000000 (denoted value) 0000000
04000000000000000000000000000000000O0OO0oOn
g00o0ooOoOOo00opooOoo0oOobocUooooU0oooboooooUoooOooooogo
O000000000DO0D0000000DO0OD0ODOODO0D0 denoted value O expressed
value 0000000000000 O0O0OML' 000000000000 Expressed Value
O

Expressed Value = 00O (...,—2,-1,0,1,2,3,...)+ 000
Denoted Value = Expressed Value

{0000000000000000000000 (L-value)D 000 (R-value) 00000

13



{
let reservedWords = [
(* Keywords in the alphabetical order *)
("else", Parser.ELSE);
("false", Parser.FALSE);
("if", Parser.IF);
("then", Parser.THEN);
("true", Parser.TRUE);
]
+

rule main = parse
(* ignore spacing and newline characters *)
[> > ’\009’ ’\012’ ’\n’]+ { main lexbuf }

| n_ne [)O;_;g;]+
{ Parser.INTV (int_of_string (Lexing.lexeme lexbuf)) }

"(" { Parser.LPAREN }
")" { Parser.RPAREN }
",:;" { Parser.SEMISEMI }
"+" { Parser.PLUS }

"x" { Parser.MULT }

"<" { Parser.LT }

| [’a’—’z’] [:a;_;z) ;01_79; ;_; )*:]*
{ let id = Lexing.lexeme lexbuf in
try
List.assoc id reservedWords
with

_ —> Parser.ID id

}
| eof { exit 0 }

O3:ML'OOO0D0O0O: lexer.mll
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gogbbobud+ooobbboooon
OO0O0000D000 Objective Ciml DO OOOOO0OOOOO

(¥ Expressed values *)
type exval =
IntV of int
| BoolV of bool
and dnval = exval

OO0 DO0O0O0OO00OO0DbO0ObDO0ODO0ODbO0ODbDO0ObDO0bDO0ObDODbDOnOnddenoted value O
gboboodgbbotobbodobboodobboooboobuooobboobbooob
0000 (environment) 000 0000OOCOOOOOOOOOOOD (DODO)OOoOOOO
00000 (environment passing interpreter) D 00000000
O00O0OD00O0 denoted value 00 OO0 DO 0OO0D0OODOODOOOOODOOODOODOODOO
gboboobbooobboodbbuoobobooobbooobboobooobboob
goooon
O000000000000000000 (0000 denoted value) D00 ’a0000a t
O000000000000000000000000 (environment.mliOJOOOOO0O)
type ’a t
exception Not_bound
val empty : ’a t
val extend : Syntax.id -> ’a -> ’a t -> ’a t
val lookup : Syntax.id -> ’a t -> ’a
val map : (’a -> ’b) -> ’at -> bt
val fold_right : (’a => ’b => ’b) -> ’a t -> ’b -> ’b

ol empty UOUOOUOOOOODDOOODODDODDODOOOOO0OO0000O0 extend UOD
goboboboooobobbbuoooobbibdUdUextend id dnval envO OO0 env [
O00000 id O denoted valuednval DO 000000000 OO0OOO0ODODOO lookup
goboogobbooobbbuodbibibddUlookup id env OO0 envUODOO
ggbbbuoooobboduod idbbbuoooobbouoobbobobboooab
gobobobud Not_bound DO OOMN

D00 mpUUOmap £f envUOOOOOOO0ODOOOO0 £f0000000O0000O
Udb0bO0O0fold_right DUUOUOOODDODODUOOO0OO0ODODOOOOOODODOOOO0O0
Uil fold_right O UOOODOOOOOODOOOOOODODOOOOODODO

gbbogbogbbodobo4bbooobbooboobbbuoobboobooon
UOO0OUOenvironment.mli U0 ’a t 000000000 OO0OO0O00OOO0O0OOOOOO
gogbobogoobobodad

0000000 main.ml 0000000000000 OO0OOODOOOO(ODOOO)O
goooodg

let initial_env =
Environment.extend "i" (IntV 1)

15



type ’a t = (Syntax.id * ’a) list
exception Not_bound

let empty = []
let extend x v env = (x,v)::env

let rec lookup x env =
try List.assoc x env with Not_found -> raise Not_bound

let rec map f = function
0 -> [
| (id, v)::rest -> (id, f v) :: map f rest

let rec fold_right f env a =
match env with
1 > a
| (_, v)::rest -> f v (fold_right f rest a)

04 MU'O0O0OODO0O0O: 00000 (environment.ml)

(Environment.extend "v" (IntV 5)
(Environment.extend "x" (IntV 10) Environment.empty))

OvixDODOooobOog 1osgobooobogooobooboboooobboobobobon
O000000ooo(@oooon)oooooo

goboooobd bobobooboboobobobOoboboboOobOobboboboooo
dtdobbbbodudgooobibibibl apply_prim, OO eval_exp DO OO OO
000500000000 0eval_ exp 0000000000000 (ILit,BLit)O0OO0O
0000000 leckup 00O DO0ODOOO0ODODOOOOOODODOODOOOOODODO (O
O0000)00000000 apply_prim 000000 Oapply_prim 0000000000
O000O0000000O0O00On0 Objective Caml DO ODOODOODOOOOOOOOOO
0000000000000 000000 thenO /Jelse 0000000000000 err00O
0000000000000 00000000 (eval.ml DO0OOO)O

eval_ decl 0 ML!OODOOODOOODOODOOODOOODOOODOOOOOOOLletO
gooOooOoOoOoOoOoOOOOOOOODDDODODODOOOODOO (oOoOooooo "-mo-
gbooboobobbobobobooobooboon

3.3.4 main.ml
Uobboobuddd main.ml OO 6000000 read_eval_print U [
1. 0o0booobooboobon

16



let

let

let

rec apply_prim op argl arg2 = match op, argl, arg2 with
Plus, IntV i1, IntV i2 -> IntV (il + i2)

Plus, _, _ -> err ("Both arguments must be integer: +")
Mult, IntV i1, IntV i2 -> IntV (i1 * i2)

Mult, _, _ -> err ("Both arguments must be integer: *")
Lt, IntV i1, IntV i2 -> BoolV (il < i2)

Lt, _, _ -> err ("Both arguments must be integer: <")

rec eval_exp env = function
Var x ->
(try Environment.lookup x env with

Environment.Not_bound -> err ("Variable not bound: " ~ x))

ILit 1 -> IntV i
BLit b -> BoolV b
BinOp (op, expl, exp2) ->
let argl = eval_exp env expl in
let arg2 = eval_exp env exp2 in
apply_prim op argl arg2
IfExp (expl, exp2, exp3) —>
let test = eval_exp env expl in
(match test with
BoolV true -> eval_exp env exp2
| BoolV false -> eval_exp env exp3
| _ -> err ("Test expression must be boolean: if"))

eval_decl env = function
Exp e -> let v = eval_exp env e in ("-", env, v)

05 MUODODOO0OO: 000000 (eval.ml)OO0O

17




open Syntax
open Eval

let rec read_eval_print env =
print_string "# ";
flush stdout;
let decl = Parser.toplevel Lexer.main (Lexing.from_channel stdin) in
let (id, newenv, v) = eval_decl env decl in
Printf.printf "val %s = " id;
pp_val v;
print_newline();
read_eval_print newenv

let initial_env =
Environment.extend "i" (IntV 1)
(Environment.extend "v" (IntV 5)
(Environment.extend "x" (IntV 10) Environment.empty))

let _ = read_eval_print initial_env

O6:ML'OOODOODO: main.ml

2. 00

3. 00000

00000000 00D0O1et decl = JOOOOODOODDODODOODOODODODO
O001lexer.mll 000000000 ODO main OO0 Lexer.main 0 0 parser.mly (O
hstart) D0 00000000 0ODOO toplevel OODO Parser.toplevel DO O OODO
UD0OParser.toplevel U O UOOD0OOO0O0O0O0O0D0OO0OO0O0DOOO0DOOO0O0OOODOO
000D00000000000 Lexing.lexbuf 000 (0000000000 OOOOO0O
Lexing.from_channel 00000000 0)000000O0pp_val O eval.m1 0JOO0O
gboobgobooboboboboobooboobon

Exercise 3.1 (0000 MU'!O0DOD0O0000000000O000O00O0O0O0OOOO0OO
gboobobooobooooboobo g, v,wxboobooooboooowg 200 O
0ivDbh 40000000000DO0DODOODOODOODOODOODbO

v+ i * i
gogbbobooogd

Exercise 3.2 [xx] 0000000000000 O00OO0OO0OO0OO0O0O0OOOOOOOOOOO
gobobodobbooobboobbuooobboobbobooubbooobbooob
gogbbbuogoobboooooboboooobboboooobbbuoooooon

Exercise 3.3 [x] 0 0000000000000 &, ||00000O0O

18



3.4 ML?—0O0000O

oooooMLOODODODODODOODODO main.ml OO initial_env 00000
0000000000000000ML200000000000let000 let00O000O0O
ERERE

34.1 lete 0000000

ML2OOD0O00000000000000

(00000) == ...|let(000)=(0);;

(O0) ==
| et (000 )=(04)in (0 )

expressed value, denoted value D OO0 00000000 0OOltOOO0OOOO0DOOOOOO
goboogbboobobbooobboobbboodb rOdUd0dsyntax.ml DOODOOOO
0000000000000 O0Oparser.nly 00000000 0OOCO (etD0O00O ifO0O
O0000)00001lexer.mllO0000000000000000O00OOeval_exp O let
gddodooooouoooooouogoouooooobo oo ooooooa
O0o00dooooooooooooooood

Exercise 3.4 [0000]ML200000000000000O0OOO

Exercise 3.5 [xx] Objective Caml 00 01let0 000000000000 0OOODODOOO
ggooobobobobbbooooogoooagd

H#letx=1
lety = x + 1;;
valx =1

valy =2

Exercise 3.6 [xx] O00000000000000C00000 niniml 00000000
b gbogobboooboobobbuoobbuodobboobbodoobooboob
0000000000000000O0O0O0O0000o0ooooooooo(@Eooon: ;; -
0000000000000O0000000ooon)

Exercise 3.7 [xx] and0 0 0000000000000 OOOOOOOO letODDO0OOO
ggbbbouoodobbbooogn

let x = 100
and y = x in x+vy

0000002000000 x000000 100000000000)1100000

19



syntax.ml:

type exp =
| LetExp of id * exp * exp
type program =

Exp of exp
| Decl of id * exp

parser.mly:

Jhtoken LET IN EQ

toplevel :
Expr SEMISEMI { Exp $1 }

| LET ID EQ Expr SEMISEMI { Decl ($2, $4) }

Expr :
IfExpr { $1 }
| LetExpr { $1 }
| LTExpr { $1 }

LetExpr :
LET ID EQ Expr IN Expr { LetExp ($2, $4, $6) 2}

lexer.mll:

let reservedWords = [

("in", Parser.IN);
("let", Parser.LET);
]

| "<" { Parser.LT }
| "=" { Parser.EQ }

eval .ml:

let rec eval_exp env = function

| LetExp (id, expl, exp2) ->
let value = eval_exp env expl in

eval_exp (Environment.extend id value env) exp2

let eval_decl env = function
Exp e -> let v = eval_exp env e in ("-", env, V)

| Decl (id, e) —>
let v = eval_exp env e in (id, Environment.extend id v env, v)

O 70000
20



3.5 ML — 00000

go0oooOOoOOoO0oO0ocOoOOOODOOOOOOOOOOOU00O0(DOOOoO)0Ooooo
o0oo0oooMLOOOOOO (DOOOO0OO0O0O0O0OO0OOOO0)000O0ooooOoooOO
0O000000OML*0O0O0fn00000000000O0O0O0OO0DOOO0

3.5.1 0OO00OO0ooOo
ooooMLOOO0OoOooooo

(O ) ==
| fun (OO0 )—(0O)

| (0 1) (0 o)

gobbooobbobuoogbooooobogogbboboogobbooobbooon
ggbbbuoogobbodo

3.5.2 U00O0OO0OOOOO0OO0OO0

00 0OObjective CamlO D0 OMLP 00 0000000000000 0OO0ODOOOOOO
0000000000000 00000 (first-class value) D000 0000 OO Oexpressed
value, denoted value O 0 D 0D OO0 0O0OOOOOOO0O

Expressed Value = 00 (...,-2,-1,0,1,2,3,...)+ 000 +000
Denoted Value = FExpressed Value

ooooboobobooooooobOobooodfunOO0b0O0ODODODObObOOOO
0000 (00)0000000D00D0D0D0D0OOODOO0ODOO0OD0OO0OOO0O0ODOOOOOO000
gobbooboboodgbboobbobobboobuooobbuooooboobobooon
00000000 (D00o0oDO0OO0)00o0oooooooooooo

let x = 2 in
let addx = funy — x + y in
addx 4

xOogoobhooobbuooobdd addaxddbbogoobogonb xb 20000
ggbbbuoogobboooobbboooobbbouooobobbooogbbboo

1. ggbood

2.0000000000
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syntax.ml:

type exp =

| FunExp of id * exp
| AppExp of exp * exp

parser.mly:

Jtoken RARROW FUN
Expr :
| FunExpr { $1 }

MExpr :
MExpr MULT AppExpr { BinOp (Mult, $1, $3) }

| AppExpr { $1 }

AppExpr :
AppExpr AExpr { AppExp ($1, $2) }
| AExpr { $1 %}

lexer.mll:

let reservedWords = [
("fun", Parser.FUN);
]

| "= { Parser.EQ }
| "->" { Parser.RARROW }

0800000 (1)
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eval.ml:
type exval =
IntV of int
| BoolV of bool
| ProcV of id * exp * dnval Environment.t
and dnval = exval

let rec eval_exp env = function

| FunExp (id, exp) -> ProcV (id, exp, env)
| AppExp (expl, exp2) ->
let funval = eval_exp env expl in
let arg = eval_exp env exp2 in
(match funval with
ProcV (id, body, env’) ->
let newenv = Environment.extend id arg env’ in

eval_exp newenv body

| _ -> err ("Non-function value is applied"))

0900000 (@3)

3. 000000000000 0Doooo0000 (DoooD)oooog (Dooo)

O000000000300000000000000000000 (function closure) D0 00O
gobooobbuooobbodbbugbobooobboooboobbuooobboob
O00O0C0OfunOO0OO0OO0OO0ODOO0ODOODOODODODODODODODOOODOOODOOO
gogbbbuoodgobbooogbbobuoooobbouooobobbooogbbboo

Uogbobibb eval.ml UUOOOOUOOOOO0O0OUOODLODOOOOOOOOOO
00000000000000000Oexval Ddnval 0000 (00)00000000O0
bl procvUogobooooboboobboobbbooobooobuoooon
gobobbbbu0dddUeval_exp U FunExp U0 D OUOOOO0OO0OOOOOO0OO0O0O0O
U0 envOOOODDOOOODOOOOO0OOO0OOOO0ODOOOODOODDOOOOOO
gobboodobobbooobbbuooobbbuoodobbbuoobuoobobbuooon
goobboboboboboooodddoodd newenv U000 ooooboOoOOOOD
ggbbbuoodobbboooobbobd

Exercise 3.8 [0 000 ML 0000000000000 000OO0OOOOOOOOO
gogbooboogn

Exercise 3.9 [xx] Objective Caml 00D (D O0O000) 0000000000 O0O0OODO
ggbbobuoooobbbuooobobbboodgooo
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let threetimes = fun f — fun x — f (f x x) (f x x) in
threetimes (+) 5

go0000000

Exercise 3.10 [x] Objective Caml O

fun x1 ... xn — ...
let £ x1 ... xn = ...

ggbbbuooobbbooodn

Exercise 3.11 [x) 000000000000 40000000000000ML> 000
gogbbbuoooobbbooodoobbbooobbboooda

let makemult = fun maker — fun x —
if x < 1 then 0 else 4 + maker maker (x + -1) in
let times4 = fun x — makemult makemult x in
times4 3

Exercise 3.12 x| D0 0000000000000 0O0OO (dynamic binding) 00000
oot ouuuuouuua
gbbogobogbodbuoobooboboobuooboobbboobbobobodbdtfun
oot ddumU000000O0OOOOOOOOOODOOOOOOO

let a = 3 in

let p = dfunx — x + ain
leta =>5in

a*p?2

0000000000000 p0000 a0 30000 50000000000350000
(fun 0000000 250000)

Exercise 3.13 [x] 00000000 0OMU 0000000000000 0O0O0O0OO0OO0O
Ub0b000DE=xercise 3.11 0000000000000 0000O00O0ODOOOO0ODODODO
0000000000000 funD afun 000000 40000000 OO)OOODOO
ggbobobooogobon

let fact = funn = n + 1in
let fact = fun n — if n < 1 then 1 else n * fact (n + -1) in
fact 5
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3.6 ML* — 0000000000

gbobogdbbuodgbboodgboobbuoobobooboboobbuooobboon
00000000000 (recursive definition) 000 O0000OML*000000DOOO0O
gogbbbugoobbbuoooobbbooobobbboooobobbbouooobbn

goboooboooboooogd letrecdobooboobooboon

(00000) == ...|letrec(000 ) =fun (000 o) — (0O );;

(o) == ...
| letrec (000 ;) =fun (000 o) — (O 1) in (0 2)

gobooooboooobooooooo letbbO00bO0oO0obOOO0ODLOO0ODO0OO0ODOOOO
gobobogboboogbbooobbuogboooboobbooobboboboboon
gbbodbooobuoob oobbodobbooobobooboobboobbooob
gbobogobbuogobbooboboogbbuooobbuobbooobboobbob
00000000 (backpatching) 00 0000000000000 OO0OOOOOOOOO
gobbogboboobobooobobooobboobbooobboboobbooon
Oob0ob0o0o0b0ooboobooboboobbo0obOodbOoObjective Caml D OO0 O
O000000000o0o0O0O0O0o00ooooo(@Eoo)oDoooooo

gioobobobobob0obO0b000Oeval_exp U LetRecExp DU O OODOOOOO
gobbobogobbboooobboogd

Exercise 3.14 [0 000] 00000 syntax.ml D00 000 Oparser.mly 0 lexer.mll
O0o00oOoMU 000000000000 000O0O((letrec0DO000O0OOO0O)

Exercise 3.15 [xx] and00 0000000000000 000000O0O0O letrecOO0O
oooooOooooooooooooooo

3.7 ML° — 000

Exercise 3.16 [+ 00 0000000000000 0O [[OO0O0O0O0O0OOO:0match
00000000000000000 MUUOODO0OO0OO0000000OmatchOOOOOO

match (0 ) with [| = (0 5) | (000 )= (000 5) — (0 ;)
goooooooooooon

Exercise 3.17 [x] 00000

gobobooogd
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syntax.ml:

type exp =
| LetRecExp of id * id * exp * exp
type program =

| RecDecl of id * id * exp

eval.ml:

type exval =
| ProcV of id * exp * dnval Environment.t ref
let rec eval_exp env = function

| LetRecExp (id, para, expl, exp2) —>
let dummyenv = ref Environment.empty in
let newenv =
Environment.extend id (ProcV (para, expl, dummyenv)) env in
dummyenv := newenv,

eval_exp newenv exp2

g 10 00000gn
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Exercise 3.18 [x] match0 00000000000 OOOOOOOOOOOOOO (=0
00)000000000000000000000O0O0O0O000OO0OoO

Exercise 3.19 [xxx] 000000000000 0O0OOOOOOO0O

Exercise 3.20 [»x] 00000000000 0ODOOObjective Caml OO0 0O0OO if0 let,
fun, match 00O 0O0O0O0O0OO0ODOO0OOODOOODODOOODOOOODOOOODOOOODOOO
goooobbbbbbboobbbbbbbobooooooooobbbboooon

1 + if true then 2 else 3;;

gogbbobuogoobbboooobbboooooon

4 O000O00OO0OO0O

4.1 ML:OODOODOOOOO

O0OML?00000000000000OML?000000000000000000
OO0 ltODO0D00O00O0OO0O0ODOO0OOOOOODOODOOOOOOODOODOODOOOltdOO
00000000000 oOoooML?0000 (D00000000)00000000O0

e = x|n|true|false|e; op ey |if e; then es else e3 | let x = e in ey

op = +|x*|<

0000 (0)00000 e00000(000D0)0(000)00000 x00000 (O
000)0000oo0o0o000 (00D0O r)U00000D000 int, 000000 bool
gogdd

7 ::=int | bool

4.1.1 DOOO00OO0OO0OOOO

gogobbbbougoooobbbobbooooobb e - 000O0OO0O0O0O0OO
gboobobooobooooboboooboobobobo 1+100 imt000oOo0O
U000 iflthen2+3else400 int 00000000 O0O0O0O0O0OODOOO0O eOO
r0000000000000 (type judgment) D00 0e:7 000000

gboboobo0obobobobobooboooDoboobD 20 it 000OD00ODODODOO
gooooooobobobbbbbbbbbiboodooooooouooooobobobobobn
0000000000000000000000000000000000000A0 (type
environment)(0000 INOOODO0DO0O0OO0O0OO0OOOO0O0O0OOOOOOOOOOOOOOO
gobobobogodgbbooo

MNz)=int 00 z:int OO0
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gboooboobobobobboboooboobrFe:r00ooQg
oo robogg et 000

gboboF0O0ObOO0OOO0ObObOO0ObOobOOobDOoO0obOobDOoOobOobDOo0obOobOoooo

00000000000000000000(00000)00000000000000d

gogbbbuoogobbboooobooboooobbbooooobbbooogbobooboo
0000000000 (yping rule) 000000000000 0O0OOOOO

(000, - (000,)
(000)

(oon))

00000000000000(000,4),...,(000,)000000 (premise)00000
(000)00000D0 (conclusion) 0000 000000000000000000O0O

I'Fe;:int I'F ey :int

(T-Prus)
' ej+ey:int

O00000000ooooooo(ooo)oo
gobboboooobbboooobobobuoooobobboooon

gobbogobobooobbobbbooobbonobooboooobboooboboon
gbooobooboobboobuooboooboboobodl,es DbOo0obOoOoDO
000000000000000000000000000000F1:int 000000
O00000000000000 W000000000) 000000 T O (G006, e, 00
O000100000000000000000000000000 (instance)

O+ 1:int D+ 1:int
0F14+1:int

(T-Prus)

00000000000000000000000000000FI+1:int 0000000
gbboobodgboboobboobuooboobbobuooboobboobuooboonn
oooOoML20000000000

(P(z) =7)

(T-VAR)
'Fz:7
_— (T-InT)
['-n:int
(b=true OO0 b= false)
(T-BooL)

I'Eb: bool
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I'+eq:int I'key:int

(T-Prus)
' e;+esy : int
I'Fe;:int I'F ey :int
(T-Murr)
I' - e*xey : int
I'Fe;:int I'F ey :int
(T-Lr)
' e1<ey : bool
' ey : bool I'ey: 7 I'es:7
: (T-Ir)
' if e; then ey else e3 : 7
ke T x:mbey:m
1571 1 €21 Ty (T-Le)

I'kletz =e;iney:

oo T-Ler00ob0 Iz:7 0O I'0 20 700000000000O000O0DOODOO
gogbbbouoooobbodo

dom(I'yz : 7) = dom(I") U {x}

<r,x:r><y>={ -

T (fx=y)
(y) (otherwise)

0000000000 ((dem(I) 0 TOO000O0O0OD0)0D000000O0O0OOOOOOO
00000000 (side condition) 0000000000000 O0O0O0O0O0O0OOOOO0O
gobbboodgbbbdao

4.1.2 DODOO0O0O0OO0OOO
gobbboooobobboooobbboooobobbooooobobboooooboooD

gbo:-go0oroo e
Ob0:'Fe:7r0D000000OOOOODODOO 7

gbobobobooobbuoobbobooobbuobuooobooobbuooobboon
googgbbugobbuogboboobbuoooboboobboobbuooobobooon
gbooboboooboboboboboooooboobooT-Int000O0O0O0OooOOon
gbdboobobobobibimtbgbobooobooooooooooT-PLosdio
oobooobo0o0ob0oobD mt0000O0000 0000000 obO0oobooooog

Exercise 4.1 [1000] 011,012000000000000000000000000
00000 (0000000000 typing.ml 00000000 make depend 00000
oooooo)
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Makefile:

OBJS=syntax.cmo parser.cmo lexer.cmo \
environment.cmo typing.cmo eval.cmo main.cmo

syntax.ml:

type ty =
TyInt
| TyBool

let pp_ty = function
TyInt -> print_string "int"
| TyBool -> print_string "bool"

main.ml:

open Typing

let rec read_eval_print env tyenv =
print_string "# ";
flush stdout;
let decl = Parser.toplevel Lexer.main (Lexing.from_channel stdin) in
let ty = ty_decl tyenv decl in

let (id, newenv, v) = eval_decl env decl in
Printf.printf "val %s : " id;

pp_ty ty;

print_string " = ";

pp_val v;

print_newline();
read_eval_print newenv tyenv

let initial_tyenv =
Environment.extend "i" TyInt
(Environment.extend "v" TyInt

(Environment.extend "x" TyInt Environment.empty))

let _ = read_eval_print initial_env initial_tyenv

0 11: ML2 000000 (1)
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typing.ml:

open Syntax

exception Error of string

let

err s = raise (Error s)

(* Type Environment *)
type tyenv = ty Environment.t

let

let

let

ty_prim op tyl ty2 = match op with
Plus -> (match tyl, ty2 with
TyInt, TyInt -> TylInt
| _ -> err ("Argument must be of integer: +"))

Cons -> err "Not Implemented!"

rec ty_exp tyenv = function

Var x >
(try Environment.lookup x tyenv with
Environment.Not_bound -> err ("variable not bound: " ~ x))

ILit _ -> TyInt
BLit _ -> TyBool
BinOp (op, expl, exp2) ->
let tyargl = ty_exp tyenv expl in
let tyarg2 = ty_exp tyenv exp2 in
ty_prim op tyargl tyarg2
IfExp (expl, exp2, exp3) —->

LetExp (id, expl, exp2) ->
_ —> err ("Not Implemented!")
ty_decl tyenv = function

Exp e -> ty_exp tyenv e
_ —> err ("Not Implemented!")

0 12: ML2O000000 (2)
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4.2 ML3ODOOO

000000000000 0000000000000D000O0 MySet (mySet.ml, mySet.mli)
00000000 Ohttp://www.fos.kuis.kyoto-u.ac.jp/~t-sekiym/classes/isle4/
st/ 0000000 O0OOOODOODO

4.2.1 0000000 DODOOO
O0O0fun0O0OD0O0ODO
ex=---|funx —el|e e
gogooooooobbid n—-nUidodooobbboooogooooon
7 :=1int | bool | 11 = 7
goodoooobbbbooooooguoooobbbbbooooo

Ner:mkEe:n

(T-ABs)
I'Efunz —e:m — 1

ke :m — 7 'Fey:m

(T-APpP)
I'Hejey:m
OO0 T-ApsO0 00000 e0D00O0 20 n OOOO0ODDDODOO0 nOd00O00OO0DODO
funzx—>eln—->n000000000O00000O00 T-AppO00e,00000O00OOO
O00000000ooobobDUe00b000d0000O0OOObObOD0O00O oo
Oo0odoooooooooo
dddddooooboboboboobbdoddddddddddoooooooOoOoUooOoa
0000 T-ApsO0ODOO0DOD0OO0O00O0DODO0OOeODO0OO0O00ODODOO0O 200000
00000 d0o0booboo0oobbooo0oobooboddfunx -=x4+100000003
000000000t »int 00000000000 OODOO0O0O0OOOOOOOxO00
intJd00000000000000000O0OO0D0OD000000x+100000000x0O
O0int OO0O0O0O0OO0OOOODODOODODOOOOO0O0O0

422 DODO0O00O0O0OOOOOOOLDODOOOOO0On

0000000000000 0O0000000000000000000000A0 (type
variable) D000 0O°0
Tu=a|int | bool |74 — 7
S000000000D0000000000000D00000D00000D00000000D0OO00O00DO

gobobobooooboooobooboooobooobooboooooboooboooboOobooOooobooobooono
oood
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000000000o0O00oooO000oOoU0o (booooooO)oooooooooo
gogbobbbbugooobbbbuooooobbbb xood ebbbbOooooon
goboobobboodOx+1000 int DOO0D0OO0O0O0D00O0 a=int 00000
O0b0dbD«0int0000000000DO00DO00O0O00O00DLO0ObO0ObOb0bO0n0O
OO0 T-ApsU0O00O00O0ODO oa—-int00000iInt -int 000000D0O0O0DOODOO
funx—=funy - xyOUOQOUOOooooooooooooooobooooooonog

l.xO000 «0000D0000D0D00 funy—=»xyOOoooooo
2.y oooooOOo pO0000ODbODbO0OD xyOOUOooDOO

3.xy0OODODODODOOOOODODODODD (ODOOUOODOOD)y0000a=—-~y000
gobboogod

gbogboobbooboboobooboboobobobobooboboboboon
goboobgooobooooboobuoobooboobobbobboobboobooDbOon
gogobobbobbobooooooob 3bbbodooooobboboboooooon
000000 fresh_tyvar O fresh_tyvar O OO0 0O0O0O0O0O0OOOOOOOODOOOO
00000000 T-ABsO00D0O0OODOODODOOD «ODOODODODOOODO
0000000000000 DO0O00000 (type substitution) 0000000 (DOO
0000 SO0O0000)000000000OO0 (D0)OoDOOooDooOoOOoDOooODOOoOST
O-r000o0ob sobooooogoooboboosSroooboooooooboonD so0
ooo0ooobOobooooosrOSTOO0oO0O0O0oOOoDOobDOobOobobooDOoo

S — { Sla) ifae c.lom(S)
a  otherwise
Sint = int
Sbool = bool
S(n—m) = S —>38n

dom(ST) = dom(I")
(ST)(z) = S(T(x))

ggbbobuooobbboooobobobboooobboboooobobobooon

gb:-gbooroo e
O0:STFe:7O000000ODO0ODODOOODOODO rODOO S

Exercise 4.2 [0 0 00] 0O 1300 pp_tyl freevar_ty 0000 00O freevar_ty O [
godooboooooooboooooooooon

val freevar_ty : ty -> tyvar MySet.t
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00000 ’aMySet.t 0 (D0 WWWOOOOOO)mySet.mli 00000000 ’a0
ggbobobooogbbobodo

Exercise 4.3 [J000] O0O000OO0OO0O0O0O0O00D00OO typing.ml OOODOOO

type subst = (tyvar * ty) list
val subst_type : subst -> ty -> ty

O000000 suwbst UOODOODOODOODOODOO [(idl,tyl); ...; (idn,tyn)] OO
0000000000 [idnw tynjo---0[idl—tyl|]0 000000000000 O0O0O
gobbogboobboooobbboodbsyyrogbbogobobooobbooon
gobbbooobbbooaoboo

ggoo

let alpha = fresh_tyvar () in
subst_type [(alpha, TyInt)] (TyFun (TyVar alpha, TyBool))

000 TyFun (TyInt, TyBool) OO DO

let alpha = fresh_tyvar () in
let beta = fresh_tyvar () in
subst_type [(beta, (TyFun (TyVar alpha, TyInt))); (alpha, TyBool)] (TyVar beta)

000 TyFun (TyBool, TyInt) ODOODO

4.2.3 000

Oo0oDbOo0ooobOoogoT-IrD T-PLosODOOOOOODODOODO boolODOO
UO00000mMthenOOelsed 000000000 O0O0OO0OO0OO0OMMOO0OODO int
000000000000000000000000ooooML’0000oooooon
(0000 TyInt 000000000000 000000)000000000000O00O0O
gogbbooboooobboboooobboogod

gbobooboboobobooboboobobooboboobobboboobo
gboobOobobOobOobOobooooobooooobobob0dfunx —14+x0000
gboboboboboboobobuoooobbddxobuibib e b000014x0O
gbobbogobbuoooboboobbooobbooobbooobboobbooon
00 1,x0000int0 « 0000000000000 int0000 (DOD0ODODOOOODO)
gbobogobbobbooobbuooobboobboobboobbobobbodl b
O0intO00000b00o0b0oboo0boooboboboobooboobobooobooo
O0oooooooobobobobooooooooonogT-IrO thenOD elseD 00O 0O
ggboboboooobbboooobobbuoooooo
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Makefile:
OBJS=mySet.cmo syntax.cmo parser.cmo lexer.cmo \

environment.cmo typing.cmo eval.cmo main.cmo

syntax.ml:

type tyvar = int

type ty =
TyInt
| TyBool
| TyVar of tyvar

| TyFun of ty * ty

(* pretty printing *)
let pp_ty = ...

let fresh_tyvar =
let counter = ref 0 in

let body () =
let v = !counter in
counter :=v + 1; v
in body

let rec freevar_ty ty = ... (¥ ty -> tyvar MySet.t *)

013: ML 000000 (1)
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goooogooogogno {(7—1177—12)7-"7(7—n177—n2)} ggogono DSTll 287'12,
o St =8t, 00 SO00DO

0D000000000000000000000000000 (unification) 0000000
0D00000000000000000000000000000000000000000
D000aq, int O S(e) =int 00000 SO000000000000a — bool O
(int - 3) — 0 S(a) =int — bool 00 S(f) =bool 00 S 000000000 DO
000000000 (00000)000000000000000000000000
00000000000000000000000000000000000000000
(000000 (first-order unification) 1000 0)000000000000000000
0000000000 O0000000000000000000000000000000
0000)000000000000000000000000000000000000
0000000 (XwYOOXNY=00OO00O X0 YOOOOOOOO)

Uw) — 0

U({(r.7)} ¥ X) — ux)

U{(a, 7))} W X) (f 7 # «) - Zr(x[-irH TIX) o [a 7] Eg é SJ;V(T))
Uy X) (fr4a) = § Ul TOelen T E; ¢ §T>V(T)>

Z/{({(TH — T12,T21 — T22>} \) X) = Z/{({(TH,TQl), (T12,T22)} H X)
U{(11,72)} W X) = error (DODOOOO)

000000000070 «0 710000000000 0O0OOOO FTV(r)O 70
ggbbbooogbbbouod2bud3bbudd cbggbobbuoobobbooob
O00000000o0oooO0o0o0o00o0oooo(boooooo0)Doooooooo

Exercise 4.4 [J000] 0000000 O0O0OOO

val unify : (ty * ty) list -> subst

gobooogd

Exercise 4.5 [J000] 0000000000000 0ag FTV(r)OOOOOODOOO
ggooobod

4.2.4 MLPOOODOOOOOOO
000000000OMLP0000000000000000000000Oey+e, 000

goooboooT-PLusOdooooooooono
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1.T,, 0000000000000S,,»n 0000
2.T,e, 0000000000000, »0000

3.0008,8%0a=70000000000000000008USU{(r,int), (7, int)}
000000000 S0000

4.0 it 000000000

gobodbbuoobbuoobbooobbuooobbuooboooobbooobbab
00000000 [w—n|000000000 [o—n|000000000000 R 0O n
00000000000 (oO0O0000)Doooooooooo

Exercise 4.6 [JO000] OO000O0O0O00OO0O00OO0O00OO0O0OOOOOOOOODO(0DOO
00000000000) 000000 4000000000000 000O0DO0O0O00O0d
goon

Exercise 4.7 [xx] 000000000 letrec0000000000000O0O0OOOOO

If:mm—mnx:mbe i m If:m—>mnbe T

(T-LETREC)
I'Hletrec f=funz —ejiney: T

Ooooooooog letrecd0000O00ODODOOOO

Exercise 4.8 [xx] O000000000O00COOOOO0O0OOOO0OOOOOOOOCOO
O0-r000 7listJ000000O0O0

— (T-NiL)
CHE[ 7 list
I'ke :7 I'Fey: 7 list
(T-Cons)
I'kFegiieg: 7 list
I'Fep: 7 list I'kFey: 7 Dye:7y:7listtez: 7
(T-MATCH)

I'F match ey with [| ey |2ty —e3: 7

gogbbobuoooobbboooooboboooobobobooo

37



typing.ml:

let

let

let

let

let

type subst = (tyvar * ty) list
let rec subst_type subst t = ...

(x egs_of_subst : subst -> (ty * ty) list
D0000000O00000 *)

eqs_of_subst s = ...

(* subst_eqs: subst -> (ty * ty) list -> (ty * ty) list
Oo00OCOoO0OoOoOooooo *)

subst_eqs s eqs = ...
rec unify 1 = ...

ty_prim op tyl ty2 = match op with
Plus -> ([(tyl, TyInt); (ty2, TyInt)], TyInt)

rec ty_exp tyenv = function
Var x —>
(try ([], Environment.lookup x tyeni) with

Environment.Not_bound -> err ("variable not bound:

ILit _ -> ([], TyInt)

BLit _ -> ([], TyBool)
BinOp (op, expl, exp2) ->
let (s1, tyl) = ty_exp tyenv expl in

let (s2, ty2) = ty_exp tyenv exp2 in
let (eqgs3, ty) = ty_prim op tyl ty2 in

let eqs = (eqgs_of_subst s1) @ (eqgs_of_subst s2) @ egs3 in

let s3 = unify eqs in (83, subst_type s3 ty)
IfExp (expl, exp2, exp3) -> ...
LetExp (id, expl, exp2) -> ...
FunExp (id, exp) ->

let domty = TyVar (fresh_tyvar ()) in

let s, ranty =

ty_exp (Environment.extend id domty tyenv) exp in

(s, TyFun (subst_type s domty, ranty))

AppExp (expl, exp2) -> ...
_ —> Error.typing ("Not Implemented!")

©x))

0 14: ML 000000 (2)
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4.3 0O0O0O let0O0OO

0000000000000 0(00O00)0DOD0000ODO00000o0O0ooooooOOoO
ggboboboogoboboooon

let f = fun x — x in
if f true then f 2 else 3:;

OooooDbOoooogfoOifdobddn bool — bool DOODOOOOthen D OO
int—-int000000000000 000000 o0oboooobooobooooboooDo
O0ooboooobDO lee0OOO0OOOODO

4.3.1 DO0O0OOOOOO

Objective Caml O let f = fun x -> x;; DO0O0O000000 ’a > ’ab000000
O0o0o00000O00000oo0 ’ab00000000O0DOO0(DOODOOO)DO
oooooOooOoOoOoOoOoOODOOoOoOoOooooooOoOoOOODOOO00O00ooooooo
Oo0b0ooooooooobob0o0oooo0DD?ad int 000000 int—>int 000
0000000000000 ’ab00000 pvool->bool DOOODOODOOOODODODOO
ooboooooobooooOoOOObOOOODODOODOOODOODOODODOODODDOODOOO
Ooobood ve.OOODOOODOOOOODODODOOODOOODOOOOODOOOO
(type scheme) 0000000 Voo » 000000000000 Ve. OOODODOODOO
O000000000ooo0ooooo0oooooooooooooogMa.a) — (Ya.a)
000ooo0o0o00ooOo0o0ooo(@Uooooo0oooOooUooooOooooooo
O0000000OoooooOo0O0o0o0o0ooooooooooooOoOoD)000ooOg o
oooooOoOOoooboOoooooooDooObobbOoooo

7 == «lint|bool |1 —

o = 7|Va.o

0000000vVOOOOUOOoOO0oOooo0ooooooooooooooooooooo (O
0000000000000000)00000000000 000 VYaa—a—p00
U000« 0O0000O0O0OO0OOppO0O0O0O0ODOD ISO000ODODODODODOODOOO
00000 freevar_tysc 00 0000000000000 OODO(DOO)000O0OOOO
ggn
gboboooboobboobobuoobobuoobboobbooobooobooonon let
gggobbbbbbbbodoooooooobbbbbbooooooooooobboob
ggbobuoooobbboooobbboooooon

(I'(z) =Vaq,...,a,.7)

Phx:jog =T, 0 =TT

(T-POLYVAR)
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0000000000000000VOOOOOD0DO000000000000000000
000 [a—7,...,an—7|0000000000000000(Ff)=Vaa—a00000

I'Ef:int — int

'Ff: (int — int) — (int — int)

gobbooboooboobooobooobobogboletbob0boooboobobooboboOoDO
goooo

I'e :m I''x:Vaq.---Va,. 1 Fey:m

(T-PoLYLET’)
I'kletz =e;iney: 1

b0, 000000DO0O000D0ODOO0O0O0bDD ecOO0O0O0OO0ODODOOOOO
gobogboobbodb o,...,a, UODOO0OO0O0OOO0O0O0ODOOO0OOOO0O0OO0O0
00nO00O00O0O0b0O0b0 VvOODOUOooooboobooboobooooooo
gbobooobooooobobobobuooboobobooboobooobobobrooo
0000000000oo0OoOroo (boo0)00ooo0o0Do00o0DoooOooUooooOo
gobodbbuobbboobbuooobbuoobbobbooobbuooobboob
gobobobooggoboogao

let fx=((letgy=1(x,y)ing4),x+ 1)in ...
gogooooboobbbbbooooooaad

1. xO000 «000O00oobboboogon

2. 000100000 ¢g000000yO000A00000000000000000O
0B8—axf000000

O0000gOO0OO00000OD0ODODOOOVaVES—axp 0 0000000000 (VO
000)00000000000000e0 gO0O00000O0DO0ODO xODODDODOOOOO
0000000 (x+10000000000)int0000000000O0O0O0O0OOOO
ggbbbuoooobbboooobbbooodgbon

I'He :m 'z :Vaq.---Va,. 1 Fey:m
(v,...,0, 0 n 000000000000 TOOOOOOODOOO)

I'kletz =e;iney:m
(T-PoLYLET)

0000016000 cleswre 0000000 T'000O0 SOO0000aq,...,0, 0 7
goooboobooogobo sroobobobooooboobo0ob0oobogn Vo, - Nag.t
oooooooooobooo sooooooobbooooboooooobboooobobooo
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4.3.2 ODUOO0OO0OOOOOOO0

gbobogobboobbuoobbobbooobboobbuogbbooobboon
gooobooboboboooooboboboboooooog letoobobOob

gooooooooogogoogooooooooo0 (boboooo0 7,...,mOOO (O
0000000000000 000000)000000O0ODOODOOOOOOOOOOOO
gobooogd

et 000000000000 0O00ODe 0D000000O00DO0 00 70 closure 00
gogbobuoooobbbuoooobobod

Exercise 4.9 [xx] 0 15,16 0000000000 let00000000O0O0O0OOOOO
gobbooboggbboboo

Exercise 4.10 [x) 00 000000000000 0O0OOOO0OOOOOOOOOOOOO
gogoobobooodon

Ifimm—>mx:mbe i m I'f:Vay,...,ap, 1 > T ey T
(a1,...,0, 0 m OO000 000000000000 0O000O0OOOOO)

I'Hletrec f=funz —ejiney: T
(T-PoLYLETREC)

Exercise 4.11 [x ] Objective Caml 00 : (0 )0000000000000000
0D0000000000000000000000000000000000

Exercise 4.12 [xx+] 0000000000000 O0O0O0O0O0O0OO0OO0O0O0OOCOOO
gogobobooodn

ooon
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gdodoooobododuodoooooooooonodoooooooooon
gbododooooouououoon
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syntax.ml

(* type scheme *)
type tysc = TyScheme of tyvar list * ty

let tysc_of_ty ty = TyScheme ([], ty)

let freevar_tysc tysc = ...

main.ml
let rec read_eval_print env tyenv =
print_string "# ";
flush stdout;
let decl = Parser.toplevel Lexer.main (Lexing.from_channel stdin) in
let (newtyenv, ty) = ty_decl tyenv decl in
let (id, newenv, v) = eval_decl env decl in
Printf.printf "val %s : " id;
pp_ty ty;
print_string " = ";
pp_val v;
print_newline();
read_eval_print newenv newtyenv

O 15:000t00000000O00 (1)

[4] OCaml-Nagoya. 00 OCemiJ 00000000000000.00000000000
0, 2007.

p) 00 00.000000000OO.O00OOOOO, 2007

6) 000 0. 00000000000 40000000)00000. http://www.fos.
kuis.kyoto-u.ac.jp/~t-sekiym/classes/isle4/.

(7000 0.0000000 mOCemD00000000000O0O0OO GUIDOOO
OO00oO0O.0000go, 2007. ISBN: 978-4-7741-3264-8.
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typing.ml

type tyenv = tysc Environment.t
let rec freevar_tyenv tyenv = ...

let closure ty tyenv subst =
let fv_tyenv’ = freevar_tyenv tyenv in
let fv_tyenv =
MySet.bigunion
(MySet .map
(fun id -> freevar_ty (subst_type subst (TyVar id)))
fv_tyenv’) in
let ids = MySet.diff (freevar_ty ty) fv_tyenv in
TyScheme (MySet.to_list ids, ty)

let rec subst_type subst = ...

let rec ty_exp tyenv = function
Var x —>
(try
let TyScheme (vars, ty) = Environment.lookup x tyenv in

let s = List.map (fun id -> (id, TyVar (fresh_tyvar ())))

vars in
(], subst_type s ty)
with Environment.Not_bound -> err ("variable not bound: " ~ x))

| ...
| LetExp (id, expl, exp2) -> ...

let ty_decl tyenv = function
Exp e -> let (_, ty) = ty_exp tyenv e in (tyenv, ty)

| Decl (id, e) —> ...

0 16: 000 et00000000OOO (2)
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